INTEGRAL LANJUTAN

Soal Latihan 03

C. Menghitung Integral dengan Aturan Substitusi

01. Hasil dari I(4X_3)4 dx = .....

A. %(4x—3)5 +C B.

D. Lux-3° +C E.
16

02. Hasil dari I6(2x—1)3dx = ...

%(4x—3)5 +C

1 5
—(4x-3)° + C
249

A Lox-nt+c B. 3x-1%+C
24 2

D. %(2x—1)4+ C E. %(2x—1)4+ C
o 2

03. Hasil dari | X =.....
(3x—1)°

A -— _+cC B.-—— _+C

6(3x—1) 9(3x-1)
. —;6 +C . —;6 +C

9(3x—1) 10(3x—1)

04. Hasil dari [ VEx-3)3dx = .....

A. L (5x-3)° + C B.
40

D. %\/(5x—3)4 +C E.

05. Hasil dari [2x* (1-4x%" ax = ..
A —a-ad® 4 cC B.
24

D. - ta-adB+c E.
20
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1

5 (5X—3)5 + C
1

2—0\/(5x—3)4 +C

1
—@a-43)° 4 C
30

—%(1—4x3)5 e

c. Lux-3® +c
20

C. %(2x—1)4+ C

1

L ————— +C
10(3x—1)

C. %\/(5X—3)5 + C

C. —La-adP +c
28



(6x-2)

06. Hasil dari j X = .....
©x? —6x +12)°
A. —%(9x2—6x+12)_4 e B. —%(9x2—6x+12)_2 e
1 ) 1 -2
C. —Z(GX—Z) + C D. —g(6x—2) + C

E. —é(9x2—6x+12)_2 i C

3
07. Hasil dari j(\/;%z)dx =.....
X

A. %(&+2)4+ C B. %(&+2)4+ C C. é(&+2)4+ C
D. %(&+2)4+ C E. %(2&+1)4+ C
-1 3
08. Hasil dari [&* " g =
X2
A. —%(2x‘1+5)4+ C B. —§(2x‘1+5)4+ C C. —%(Zx_l+5)4+ C
D. —%(2x‘1+5)4+ C E. —%(2x‘1+5)4+ C
1
09. Nilai dari j\/3x+1dx = ...
0
A. 15/4 B. 14/9 C. 16/9
D. 7/2 E. 15/7

10. Hasil dari Isin XcosPX dx = ...

1. 1. 1
A. Esm6x + C B. —gsmﬁx + C C. gcos X + C

1 1 )
D. —Ecossx +C E. —Ecosex.sm X+ C

11. Hasil dari Isin 5x (cosbx—2)% dx = .....

1 1 1
A. ——(cosSx—2)3+ C B. —E(cossx—2)3+ C C. —g(cossx—2)3+ C
12

2 4
D. —5(0055x—2)3+ C E. —5(0055x—2)3+ C
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12. I40052x[25in32x+4sin 2x]dx = .....

A. 2.sin2x + 8sin?2x + C B. sin*2x + 4sin2x + C
C. 4sin®2x + 8sin%2x + C D. 2.c05"2X + 8c0s?2x + C

E. 2.sin°2x + 3sin°2x + C

13. Hasil dari [16x.sin(2x* ~5)dx = ...

A. 2.cos (2x*—5) +C B. —2.cos (2x* —5) + C
C. 4.cos (2x2 -5+C —4.cos (2x2 -5 +C

E. %.cos (2x2 -5)+C

O

14. [(4x—-6) sec(x? —3x) tan(x> =3x) dx = ...
A. 2.tan (x2—3x) + C B. tanz(x2—3x) + C

C. 2.sec (X’ =3x) + C D. —2.sec (* =3x) + C
E. 4.sec’ (x2—3x) + C
15. Hasil dari [8xsin? (x* —4)dx = ...
A. 2sin3(x%—4) + C B. (2x°—8)—sin(2x>-8) +C
C. sin(2x*-8) +2x°>+ C D. cos(2x? —8) —2(x> —4)+ C
E. cos2(x®*—4) +2(x* —4)+ C
2
16. Hasil dari j9x—+62dx=...
5(x3+2x—1j
A. 25/[x3 2+C B. 55(x3 2+C
- £ (x +2x—1j _ (x +2x—1j
2 3
C.55(x3+2x—1j +C D. 55(x3+2x—1j +C
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